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25/1043

dl.e. (R AAwR) g, 2025
B.A. (First Semester) Examination, 2025

HHISTRITA
SOCIOLOGY
Paper : (Major)
(Introduction to Basic Concepts of Sociology)

9 : 2 §0g quifes : 75

Time : Two Hours | [ Maximum Marks : 75

e R W PergeR W el @ et $ 3R
afsel

Note : Attempt all sections as per instructions.
@us-31/Section-A
(3fr 71 I wrem)
(Very Short Answer Type Questions)
e wd diE gl & IR AR TRE we 2 st
@1 & TAT TAD T2 & IR P Aeibaw v
T 50 9T 2|

P.T.O.
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Note : Attempt all the five questions. Each

question carries 02 marks and answer

of each question should not exceed 50

words. 5x2=10

1. (a) GHEETS & fed 31 o THsmsd|

(b)

(©)

(d)

(e)

Explain the literal meaning of Sociology.
afifa & o1 ar fadward fafae|

Write any two features of Association.
& & Y ocd aT &7

What are the main elements of religion?
RETHIA-TE0T § 31T FT T &2

What do you understand by
Acculturation?

AT gl @ aRINT Hiforel

Define Social Norms.

2
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Wous-g/Section-B

(e7g 3T weA)

(Short Answer Type Questions)

Note :

2

(a)

(b)

1 ame yel § ¥ 5 die vl ¥ 3R
AfTE| IAD Fe 5 37D BT & TAT TS T
& IR DI JfeHad JHT 100 I
Atte_mpt any five questions out of total
eight questions. Each question carries
05 marks and answer of each question
should not exceed 100 words. 5x5=25
Rd § FHERREE o § anes a7
gl fob=gl dfa wmrsTenterdl & 9w felau|
Name any five Sociologists who
contributed to Sociological thought in
India.
G B IR DIl HR ve wiity §
IR TWE DI

Define Institution. Distinguish between

Institution and Association.
3 P.T.O.
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(©)

(d)

(e)

(F)

IS 1 8 MG AT U A1 A SR
W HifoTe|

What is Society? Differentiate between
human and animal society.

AT ¥ 310 FT N &2 T B e
farerwansit ot fagemr S|

What do you understand by Com-
munity? Discuss the main features of

Community.

Define Social structure and explain its
main features.

SIS W wRef qur sl 3 Tea
B TR |

Explain the importance of status and

role in Social organization.
4
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(9) Feai @ aMifois U= ddi dar S

22 st Fra=or F geal & yfter &
A |

Why are values called Social nhorms?

Explain the role of values in Social

control.
(h) wmfse nfaeiaar & amifsie wumEt @t
fager #ifsel
Describe the Social effects of Social
mobility.
@us-H/Section-C
(&l I we)
(Long Answer Type Questions)
A : e aR e A @ SR @ aeEl & IR afsel
TS FE 20 3BT BT & FAT TAD ¥ & IR
@ 3iftraaw oI AT 400 I 2

5 P.T.O.
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Note : Attempt any two questions out of total (d) TS TaAPROT T 22 THHOT B THE
four questions. Each question carries 3R &Y fadear HSmw|

20 marks and answer of each ffHiestion What is Social Stratification? Discuss
should not exceed 400 words.2x20=40

3. (a) wHEEmTE o tRyia SiSe| v R %
WY FAISTRS &Y WHhy Bt e S|

Define Sociology. Discuss the nature

the main bases of stratification.

of Sociology as a Science.

(b) WIS g @1 & wafte v s
el H 3R W Hifw
What is Social group? Differentiate
between primary and secondary
groups.

(c) foar @ wRule Hife au o5 Afm
BRI BT qui i

Define Marriage and describe its

various types.

6 \ 7
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wus-g/Section-C
(& 3w =)

"~ (Long Answer Type Questions)

e :

Note :

3. h

(i)

1 04 (TR) sl A W feedt 02 (A) v B
R AT FAS T2 20 (§199) 3ipt BT &1 aen
TS T & IR DI 3fedan I AT 400
v gl

Attempt any 02 (Two) questions out of
total 04 (Four) questions. Each ques-
tions carries 20 (Twenty) marks and
answer of each question should not ex-

ceed 400 words. . 2%20=40
uRd ¥ sfana Reanit § 30 89 aen
FHE3 B GHERA |

Explain the problems that emerged due
to caste discriminations in India.

gRer faarg qen dee w v fHawer foRau)
Write an essay on Muslim marriage and
divorce.

(iii) 9Ra ¥ TG fawpe & HRoi 3R gRor-

i @ fogam il

Discribe the causes and consequences
of population explosion in India.

(iv) ‘YRaO T9sT & fafqear § vhar ) o

ey faRae|
Write a essay on 'Unity in diversity of
Indian Society'.

4

Time : Two Hours |

e o T Rl & SFER wH @usl 9 9 &

(Printed Pages 4)
Roll No.

25/1550
dte. (g Swex) wian, 2025
B.A. (Second Semester)
Examination, 2025

HHISTRITA
Sociology
Paper-Major
Society in India Structure Organization and
Change
g 2:00 ¢ yotfes : 75

[ Maximum Marks : 75

FR AT

Note : Attempt all sections as per Instructions.

Hus-3i/Section-A
( 3ifer o1y IR we)

(Very Short Answer Type Questions)
dAig: |l 05 (UF) yEA & IR AT IAS I

02 (2) 37ehl BT & AT YD Y P IR Y

it w1 | 50 o &1
P.T.O.
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Note : Attempt all the 05 (Five) questions.

1.

e :

Each questions carries 02 (two) marks
and answer of each question should not
exceed 50 words. 5x2=10
(i) 7ia & P IR [Fewam fofew
Write any four characteristics of a
Village.
(i) =t @ aRenfya Sifse|
Define tribe

(i) feg faae & 3twa @n €2

What are the objectives of Hindu
Marriage?
(iv) dlg o o [Fa IR Rwant &1 3
Gl
~ State any four characteristics of
Buddhism.
(v) snta:ﬁf%nﬂ'éﬁfﬁﬁéiémwaﬁﬁvaanmanaﬂ
@ IeTd DI
State any three present problems of
women in India.
Yus-d/Section-B
(e1g 3T 9g=)

(Short Answer Type Questions)
71 08 (3116) W=t 7 ¥ et 05 (dfa) weAl &
IR AU YA ¥ 05 (Ufr) 37t & &1 o
YD Yo P I Pl Nfedad I FHT 100
v &l

Note

i

(M

(if)

25/1550

: Attempt any 05 (five) questions out of

total 08 (Eight) questions. Each ques-

tions carries 05 (five) marks and an-

swer of each question should not exceed

100 words. 5x5=25
et faare don sEE gfs & W @
W HifT| ;
Explain the relation of child marriage
with growth of population.

AT aRac @ aRwifya Sifse

Deifne the social change.

(i) IEfaear ) feunh faRae|

Write a short note on communalism

(iv) efere smfa & TR B W HIfT|

(v)

Explain the concept of Dalit caste.
Sif-TaET F 310 FAT GHE &2

What do you understand by class
consciousness?

(Vi) TR 3 & GEET $8 TS TR

@I faaa=n sifae|

Discuss some of the main problems
related to urban life.

(vii) aRdrezr &1 o 3ref &2

What is meant by perspective?

(viii) Tgeh uRaR J F@r siftpmg &2

What is meant by Joint family?
3 P.T.O.




25/1044
Note : Attempt any two questions out of total

four questions. Each question carries
20 marks and answer of each question
. should not exceed 400 words.20x2=40
3. (a) foorg @ s@arvn @ wWe el faem™
o sifer o @ 3R &2
Explain the concept of development
what is the difference between devel-
opment and progress?

(b) WEHIBRUT TT 8P URFRNIA WRAI Sl
RN TR HEPIIBIT B YTl bl farer
il
What is Sanskritization? Discuss the
effect of sanskritization on traditional
Indian caste system.

(c) MIfST 3T & FBRI Pd Haed i e
G
Describe the types and importance of
social movement.

(d) wfgen sieeE ¥ 30 Far Tusd &0 URd
% Afgen sridem & W daon @ fadar
G151 N
What do you understand by women
movement? Discuss the main features
of women movement in India.

€ : (Printed Pages 4)

Roll No.

25/1044

.U, (el S8vex) udtat, 2025
B.A. (Third Semester) Examination, 2025

HHIGTRIRA
SOCIOLOGY
Paper (Major)
(Social Change and Social Movement in

India)
W : 2 908 guiies = 75
Time : Two Hours | [ Maximum Marks : 75 |
e R R FEUER W @El {0l & IR

afswel

Note : Attempt all sections as per instructions.
@us-3 /| Section-A
(31fr o1y IR W)
(Very Short Answer Type Questions)
A | Oig el & IR Al YRe e 2 3wt
D & TATIAS T & IR DI 3HaH T
T 50 e B
P.T.O.




25/1044
Note : Attempt all the five questions. Each
question carries 2 marks and answer
of each question should not exceed 50
words. 5x2=10
1. (a) s RadT aar &7
What is social change?
(b) @I gRad= H1 T 3rf 22
What is meant by cyclical change?
(c) UBIHIGRUT B IR0 FT &7
What is the concept of Westernization?
(d) wmfoie 3nde & aRenfya Hfwe
Define social movement.
(e) TRIGR I T 87
What is revival movement?
Eus-§ /| Section-B
(7Y IR W)
(Short Answer Type Questions)
e Fr 8 (ame) et § A 5 5 () vl &
FR AMoTE| JAD W27 5 37! BT & qAT TAD
Y9 & IR o 3Aftrebad I AT 100 I
Note : Attempt any 5 questions out of total 8
questions. Each question carries 5 marks
and answer of each question should not

exceed 100 words. 5x5=25
2. (a) wrfoe uRad & & qer a@kr wiime
W 317 1 FHEA &P

What do you understand by the linear
and cyclical pattern of social change?
2

25/1044

(b) WPl o o1 o aef &2
What is meant by cultural lag?

(c) oifa e wifer # 3ieRk W sl
Differentiate between. revolution and
progress.

(d) "3BT P AT BT Blswa 21" 37 B
BT & 3Rf?

‘History is a graveyard of aristocra-
cies”. What does the statement mean?

(e) WHIE BF & 39 PB Y@ GHvaT forRav|
Write same of the problems caused by
Smart Phone. ;

(f) Ceolifdem & amifore ywd W ve feuof
fofap| ' .
Write a short note on social effects of
television.

(9) ¥Ra # wigen A & WE T T @ &7
What have been the major issues of
women movement in India?

(h) foem 3IFEIEH & BRI $T Ieorg BT
Pointout the causes of Kisan move-
ment.

gus-¥ / Section-C
(&rdf 3T ww=)
(Long Answer Type Questions)

A : 7 ar v § 9 5 & g & 3R Afw
S W9 20 3T BT & qAT T W b IR
B! 3iftran wre T 400 I &1

3

P.T.O.
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25/1551
dh.u. (ugef Juwex) wlian, 2025
B.A. (Fourth Semester)
Examination, 2025
HHGTRIRA
Sociology
Paper : (Major)

Social Problems and Issues of

Development in India

W : 2:00 TS goifes : 75

Time : Two Hours | [ Maximum Marks : 75

Ae: I W Fderar weRa @usl J 99l & IR
aifre|

Note : Attempt all sections as per instructions.
Qus-3i/Section-A
( fer e I W)
(Very Short Answer Type Questions)

P.T.O.
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e :

Note :

1. (a)

(b)

(c)

(d)

(e)

1

|y 05 (Ufa) Ul & FR ATl TS T
02 () 3P BT & TAT YAD T b TR DI
3iftrasaH o | 50 ¥ & 5%2=10
Attempt all the 05 (fives) Questions.
Each Question carries 02(two) marks

and answer of each question should not
exceed 50 words.
foraem @1 uRefva Sifs |
Define Deniance
HIZaR 3R A 3T F1 GHHAA 2
What do you understand by cyber
Crime?
3ICIRIIS ¥ 31 T T 2l
What do you understand by Minority?
TR BT IR DI |
Define Suicide

uiRfRerferas: aar 21

What is ecology.

2

25/1551
Wus-g/Section-B

(e1g I 99)

(Short Answer Type Questions)

e :

Note :

=T 08 (3110) WAt # ¥ o5 05 (dfa) WAl &
IR AR T Y2 05 (dir) 37! &7 & e
eI 52 &b IR B ifercem T 100 ok 1
Attempt any 05 (fives) questions out of -
total 08 (Eight) question. Each question
carries 05 (five) marks and answer of
each question should not exceed 100

words. 5x5=25

2. (a) o7t 31ORTE a9 2 STURTET I 1T STORTET

(b)

3R T Bl |

What is  juvenile delinquency?
Distinguish between crime and juvenile
delinquency.

HTAddTe T & | $HD THE HRUIN BT [aLeTyoT
I

3 P.T.O.
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(c)

(d)

(e)

(f)

What is terrorism? Analyses its main

causes.

aferd STifer bt sraemoT @ e PR wRa
4 afera s & B A adae TERR
ferfRadd|

Explain the concept of Dalit caste. State
any three present problems of Dalit
caste in India.

URA # 3=R WG qra & PIE A BRoT
feifan

Write any three causes of inter
generational tensions in Inida.

farer aem wfer o & s &)

What is the difference between
development and Progress.

HRA H Hivb Hbe B THRT FT 3| 3T
T BROT D) faaTen SR |

What is the problem of agrarian crisis in

India? Discuss its main causes.
4

(9)

(h)

25/1551
YEHAT BRI GBI AeFT W ve wfana
fewon faRaw
Write a short note on Prime Minister

Kaushal Vikas Yojna.

wad faer @ uRufta iR sos o
W 39§
Define Sustainable Development. What
are its main objectives.
@us-H/Section-C
(@ 3t wem)

(Long Answer Type Questions)

AT :

Note :

il 04 (TR) gt F F fodt 2 () weAt ¥
IR AIfSTE| Sedd 59 20 (§1) 37t &1 & e
YD Ye & IR B JNfrpam gre AT 400
v &l

Attempt any 02 (two) Questions out of
total 04(four) questions. Each question
carries 20 (Twenty) marks and answer
of each question should not exceed 400
words. 2x20=40

5 P.T.O.
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3

(a)

(b)

(c)

S e L E R O S —.
¢l WRA # YemER % guRomt & Ry
aﬁﬁwﬁfmns?fanmaTéa?ﬁﬁﬂﬂéﬁﬁ#ﬁgﬁma
o

What do you understand by corruption
in public life? Describe the evils of cor-
ruption in India and suggest some rem-

edies to this problem.

@ B WRufa SR a2 @ 1467
IS 3y it Bar s )
Define  Dowery. Why is dowery

considered social curse.

Fefar &1 Rgmr @1 @1 s R o
STERYT A3 B fadamr SRy

What is dependency theory? Discuss
the basic assumptions of this theory.

6

25/1551

(d) e Fre 3 S &1 5 S

3 PRuit o gRuTE B faae S|
What is meant by Global Warming?

Discuss the causes and consequences

of this problem.
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25/1045
al.u. (dem Fivex) udar, 2025
B.A. (Fifth Semester) Examination, 2025
HHGTRITEA
SOCIOLOGY
First Paper (Major)
(Classical Sociological Thought)

g : 2 9o qoIies : 75

Time : Two Hours | [ Maximum Marks : 75

e R PER R @vel @ v 3w
afse|

Note : Attempt all sections as per instructions.
AlE: oY 3aY weRl & IR B afieaw W 200

U AT QY IO G & IR @ sfean

T 500 91T &
P.T.O.
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Note : The answer to short questions should

not exceed 200 words and the answers
to long questions should not exceed 500
words each.
Qus-31/Section-A
(3rfr o1y I )
(Very Short Answer Type Questions)
dic: | Ui gl & 3R AfSEl TS WeT 2 37T
B & qAT TS T P IR DI 3fercberyy
50 ¥ &
Note : Attempt all the five questions. Each
question carries 02 marks and answer
of each question should not exceed 50
words. 5x2=10
1. (a) wre yard 3R 3mrre gbrt Far &2
What are the manifest function and

latent function?
2

25/1045

(b) wHIfSTS 3efamr @ar &2

()

(d)

(e)

What is social evolution?

YISINRUT & 31T &7 e &7
What do you mean by Renaissance?
Sl 3rd-fparare Far &2
What is social interactionism?
wTfch qT el # 3R W HifSw?
Distinguish  between power and
authority?

Hus-d/Section-B

(e7g 3w we=)

(Short Answer Type Questions)
Fer ams gt # @ Rl dfer weEt & TR
QS| FAS 52 5 3iept @7 & T YD T
& IR DY ifercpem JmAT 100 91 2|

3 P.T.O.
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Note : Attempt any five questions out of total (e) W GRT WRqd “Hed G R 1 wieor

eight questions. Each question carries ifetel

. Examine the ‘middle range theory’
05 marks and answer of each question
presented by Merton.

should not exceed 100 words. 5x5=25 :
(f) THCPRY Tl A 3T T FHHA &7

2. (a) ‘sl & WReRoT B Wl Bt What do you understand by charismatic
Explain the theory of Hierarchy of aﬁthority?
sciences. (g) ‘B Hifdmare Far 8?
(b) 3TTET & R @1 fgamo el What is dialectical materialism?

(h) ™R & FFIER Y ab T 87
Analyse the principle of Suicide.
What is derivatives according to

(C) URE & TMIisi oawn Rigid & We Pareto.
Hifoe| @us-d/Section-C
(&ref 3T w=A)

(Long Answer Type Questions)

Explain the principle of Parson’s social

tem.
g G P e i & Rt & e 3 SR A
(d) et qezr T &2 eI e 20 3BT BT & AT YA T B IR
What is social fact? FI 31frpan AT 400 v 2|

4 5 P.T.O.
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Note : Attempt any two question out of total (c) & TR & gmie Jfabr g @1
four questions. Each question carries Hﬁhﬂmﬂfﬂiﬂﬂﬁrﬁml
20 marks and answer of each question Critically evaluate the social evolution
should not exceed 400 words.2x20=40 theory of Herbert Spencer.
3. (a) W8 & IGER I BT RAER a9 RoRE (d) g gRT sfduiieq @ifies e vl wmEad
BNl & 319 s 31t Ta &) 37T & e Uehell Y STGERUT BT THIEe|
5o : Explain the concepts mechanical

solidarity and organic solidarity
According to mead the idea of self

proposed by Durkheim.

develops when the individual becomes
self-conscious. Explain.

(b) TR & TSR & g AR By
arell ST @ems @ e
Bifre|
Discuss the new social and economic

conditions which contributed to the

emergence of sociology in Europe.
6 7
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25/1046

dh.u. (dom J8weR) o, 2025
B.A. (Fifth Semester)
Examination, 2025

HHGTRITA
SOCIOLOGY
Second Paper (Major)
Research Methodology in Social Science

|94 : & gUe quIis : 75

Time : Two Hours | [ Maximum Marks : 75

Aie ;& W FduaR R @oEl @ 9 & IR
Q|

Note : Attempt all sections as per instruction.
@us-31/Section-A
(3ifererg 3T W)
(Very Short Answer Type Questions)
A : e 05 (diE) T & IR ATl IS TH
02 (AY) 37t BT & T YD T & TR DY
aiferpam gre 4T 50 &1

P-Tl 0.
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Note : Attempt all the 05 (five) questions.

1.

(a)

(b)

(c)

(d)

(e)

Each question carries 02 (two) marks

and the maximum word limit is 50

words. 5x2=10
a%q BT 37 TS|
Explain the meaning of objectivity.
HIEDHR TT &7

What is Interview?

dq free Tar &

What is random sampling?

RIS STRIEN YR T &7

What is Experimental Research design?
TS P TRUM Bl

Define the Mode.
2

25/1046
wus-d/Section-B

(eTg Fera )

(Short Answer Type Questions)

Note :

o= 08 (3m®) WAl § & {1 05 (dTer) =i
& IR ATl TS 2 05 (die) it o1 &
AT YD Ye B IR DI e e A
100 ¥ &

Attempt any 05 (five) questions out
of total 08 (eight) questions. Each
question carries 05 (five) marks and
answer of each question should not

exceed 100 words. 5x5=25

2. (a) wrifHe aedl & Wdei & WHRE WIdl &l 3eeid

HifTe|
Mention main sources of collecting

primary data.
3 P.T.O.
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(b) JuRps ez ught o RET BT (h) FrafeReaa siesl & mitasr sa Sisw|

Discuss about case-study method. 22, 14, 24, 12, 25, 10, 6, 15, 20, 17

_ Find out the median form following
(c) weIGel & & YHRI DI TS|
data.

Explain two kinds of Questionnaire. 22.14. 24. 12.25.10.-6,15; 20, 17

(d) SR & TUT BT THARA | @us-3/Section-C
' (& e we=)

Discuss the merits at Schedule.
(Long Answer Type Questions)

(e) IS ST < e S &2 S P o4 (aR) S W R 02 (@) vt B

What is social survey? FR Af5E| 7dF g 20 () it &1 @ d

) X e e o e YA® Y & IR DI ehad I AT 400
I 2l

Distinguish between rticipant and
isinguich, b by o Note : Attempt any 02 (two) questions out of

Non-participant observation. total 04 (four) questions. Each question

(9) %ﬁ ¥ At & TeR! o gHeEd| carries 20 (twenty) marks and answer

of each question should not exceed 400
Discuss the kinds of Graph.
words. 2x20=40
4 5 paTIOI
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3.

(a)

(b)

()

qIfSTeD SR o1 Jar 3rf 8? e Hed
GARCEERIRIE]

What is the meaning of Social
Research? Discuss its importance.
JUGEHT FT &? TP YAV IUdHeHT Bl
faiean sasd|

What is Hypothesis? Explain the
characteristics of a usable hypothesis.
[HITSS FTHEH & JE WOl B fodemr
Hifore|

Discuss the major steps of Social

Research.

25/1046

(d) T sriwst I sgeis s Bif:

Find out the mode from following Data:

0-10 3
10-20 8
20-30 10
30-40 1S
40-50 12
50-60 s

60-70 5
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25/1552

WUs-¥/Section-C (ii) Wy o & srEerRen 3El' &R0l |
(&ref It wreey) | HfTE ot FD fararsit 1
: f Dominant
(Long Answer Type Questions) Explain the concept o i
ibe
T P 04 (@) e 3 3 ol 02 (@) e & et i bl om0
Gl istics.
IR 2Tl 90 797 20 () 37l BT & Forr charecterist L
& aEIiie goui & e
mmaama%afémqmﬁmwo (iii) e A e
oI & ¥ U, 3R, AE S ANEH B
i ibution in
i .R. Desai's contri
Note : Attempt any 0> (Two) questions out of Discuss A i
i nd of In
total 04 (Four) questions. Each ques- terms of social backgrou
tions carries 20 (Twenty) marks and Nationalism. 1
. 7 9Ifth P STGEIRUM St
answer of each question should not ex- (iv) sifer, @ ed |
JaTER0T Aigd W Difore
ceed 400 words. 2x20=40 & SRR i
3. () 9RT F TR & wasf I B & Brf Explain the concept of caste, class
: ing to Andre
ith examples according
&1 fIIR qdep gy BT power w
Describe in detail the work of Irawati Beteille.

Karwe on the context of Kinship in India.

: 7
6
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(i) UIYT TR TS B W R TN 37D
TEIUT DI Tal Hifae|
Explain the Rural Urbon Community and
discuss their symptoms.

(iii) IN.v9. qF & WRAg A R fobe e st
B TR DifoTe|
Explain the work of G.S. Ghuriye on
Indian Sadhus.

(iv) TENHHE JESiT b HRITSTD Hed BF IGEROM
o i Bifse
Discuss the concept of Social value of
Radhakamal Mukherjee.

(v) ¥R GHIST & 3O & HIGRiama! SUNTH
W 9P sifere| |

4

25/1552
Highlight the Marxist approach to the

study of Indian Society.

(vi) .63, & IER AR WRART @
el 1 e B
According to I.P. Desai discuss the
characteristics of Indian Families.

(vii) PYD a1t TET B Nfcreiierar o W Hifse|
Explain the Dynamics of Agrarian class

structure.

(viii) TBrIERoT B wipar R v v e &
faRY & we Hifw|

Explain the ideas of M.N. Sriniwas on

the process of westernization.

5 P.T.O.
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Note : Attempt all the 05 (Five) questions.

i [t g )

(ii)

(iii)

(iv)

(v)

Each questions carries 02 (two) marks

and answer of each question should not

exceed 50 words. 5x2=10
SrepRERoT B 9 B W Bl
Explain the process of Sanskritization.
AR TRRRIfia W gHer Siferel
Throw light on Social Ecology.
arIfoT® qed @) aRkenfta Bifse)
Define the social Value.
HRd H TSI Ul B W Pifore|
Explain the Tribal Integration In India.
AR TRARY &t faeyansit @ aofs Hifsel
Describe. the characteristics of Indian

Families.

25/1552
Wous-d/Section-B

(e1g I )

(Short Answer Type Questions)

A : =108 (315) v # | fhi 05 (U 9eHT &

IR Aifste] Y 92 05 (dfa) 37l & &1 e
qékﬁsnﬁf353ﬂ<aﬁ:yﬁmmnxaﬁa'ﬁhn100
¥ 2l
Note : Attempt any 05 (five) questions out of
total 08 (Eight) questions. Each ques-
tions carries 05 (five) marks and an-
swer of each question should not exceed
100 words. 5x5=25
2. () Shew g¥ & IR i d aRwiNd
BifoTe| o 3! faRivanit &1 au i
Define Caste according to G.S. Ghuriye
and describe its charecteristics.

3 P.T.O.




@ (Printed Pages 7)
Roll No.

25/1552
e (v AAwEI) T, 2025

B.A. (Sixth Semester)
Examination, 2025
HHIGTRISA
Sociology
Paper : First (Major)
Pioneers Of Indian Sociology

|G = 2:00 U quifes : 75

Time : Two Hours | [ Maximum Marks : 75

A R R $ SER G @uel J T &
FR Aol

Note : Attempt all sections as per Instructions.
@us-3i/Section-A
( aifr g 3T )
(Very Short Answer Type Questions)
Ac: @ 05 (df) wET $ IR ARl TS T
02 () 3idt B & TAT TAB T $ IR BN

Jferpay o AT 50 91 &
- P.T.O.
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Note :

3.

(a)

(b)

(c)

(d)

Attempt any 02 (Two) questions out of
total 04 (Four) questions. Each ques-
tions carries 20 (Twenty) marks and
answer of each question should not ex-

ceed 400 words. 2%x20=40
afeer 3ear w4 R ify 2020 B ftret
gard|

Explain the role of new education policy
2020 in women's uplift ment.

T @t upfr 3R TSt W 39 T Y
WL B

Explain the nature of patriarchy and its
impact on society.

§EIaT ¢ aTell WRBR GRT ISR T 3T U”
T dR?

What is gender in equality? Discuss
some measures taken by Government
that promote gender equality.

ferm TwTstiaor & Sgfas gfemor w
BRI

Discuss the theoretical perspective on
gender sociolization.

(Printed Pages 4)
Roll No.

25/1553

dhe. (v IwR) adam, 2025

B.A. (Sixth Semester)
Examination, 2025
NTHISTRITA
Sociology
Second Paper (Major)
Gender and Society

Y = 2:00 TS guifes : 75

Time : Two Hours | [ Maximum Marks : 75

WM R R ® aeR el & IR A

Note : Attempt all section as per instructions.

gvus-3i/Section-A
( 31fr o7y 3w wg=)

(Very Short Answer Type Questions)

e :

Note :

a9t 05 (UF) e & IR AT TS e
02 (1) 3P BT &1 TAT YD T b IR B
3Ty STe W 50 91 2|

Attempt all the 05 (Five) questions.
Each questions carries 02 (two) marks
and answer of each question should not
exceed 50 words. 5x2=10

P.T.O.
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1%~ fay

(b)

(c)

(d)
(e)

fei fada & s o T &2
What do you understand by Gender
bias.
feim 3R TSt &1 TSR gRewior ¥
faeeroor SR
Analyze the gender and society from
sociological point of view.
URd # "ed femura & sRol & "y §
AR B
Briefly explain the reasons behind
declining sex ratio in India.
ARIATE B TERT W HebIeT STel?
Highlight the waves of feminism.
feir siftrepTait Y we § W Bep
Briefly explain gender roles.

Hus-g/Section-B

(eTg 3T weH)

(Short Answer Type Questions)

Note :

2:heia)

=1 08 (3110) et o 5=t 05 (dTe) st %
SR AfSe| 5 Y 05 (dfe) 37 & 2| qor
YD U & IR DY 3MeHAT oI T 100
v g

Attempt any 05 (five) questions out of
total 08 (Eight) questions. Each ques-
tions carries 05 (Five) marks and an-
swer of each question should not exceed

100 words. 5x5=25

qﬁm?@mﬁmaﬁ%ﬁﬂmaﬁ
T PR |

Describe gender division of labour from

feminist perspective.
2

(b)
()

(d)
(e)

(f)

(9)

(h)

25/1553
qa¥ 3R SisR B aarET R
Explain the sex and gender.
WG TG 3<er & Afgensit grr e
T YFBI TR yepTer 2rel?
Shed light on the roles played by women
in the Indian national movement.
FERATE! ARG URYeT 3 R B
Explain the liberal feminist perspective.
;%ﬁmﬁ & 3R & o 8 Sl R Sorer
I
Throw light on the laws made for the
uplifment to women.
TSt | wigensi o Rl age A sienie-
X1 B YT R Tl aR |
Discuss the role of industrialization in
changing the status of women in society.
gﬂ' THTSIEBROT § URaR & Yfier ot We
9
Explain the role of family in gender
socialization.
HIST § Aigesi & ey & W e v w
YHbIeT SifeTe |
Throw light on domestic violence against
women in society.
Yus-¥/Section-C
(&t 3 wg=)

(Long Answer Type Questions)

1 04 (TR) vt & ¥ 5 02 () o=t %
FR AT | 9D w9 20 (§7) 37T BT 21 T2
u@a;m%mﬁmﬁlmmmmo
9= &l

3 P.T.O.



